S SY-550

SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH 2023

Part — III

ACCOUNTANCY WITH COMPUTERISED ACCOUNTING

Maximum : 60 Scores

Time : 2 Hours
Cool-off time : 15 Minutes

-

General Instructions to Candidates :

3 §0801d, 0395 B3 ) 12@))MIBCFI060B73 :

~

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

Mddley MLA@OTIM ajoea 15 2AlMlg” ‘@08 Boa0 ©6Se” DeNoElEe]o.

‘@B BN 66S0’ CaldBIEIBUB al@lal@ea|SOM}e DTMOBUD  BRHAVY®EMo
621Q)0M)o DalGRIUIHN)D.

DONOGBUB af)$)INGIM D)MNI €2 10BYEBUB UYBLIANBQ o AW BHEMo.
WBE30U0eRU3 MIQIM)o UIRBLIABYo AIWBHEMo.

@OMAS BHGENDHUB, all(@BUB, NIa0)BHUWB, ag)arial @mo@m%o’laﬂ @AM
96Ne0olasemo.

Cal0BYBU3 2LIVWOgEILNe Mellwig)ere.
@RYQUUDIMBS MLOLIBIT TVANIIDETBUD B13HIS)BNEMo.

CDUOMBHB  aIQIMIBHITD  HOTINECLIGO)DHUWD  BF1OHWBB B0}
EDLIGESIEM] D Daldb0eMAlo al@lddoa0dEl@3 DalcIUlee)aIdnd aldslg). /

Eﬁﬁ/

1 P.T.O.



PART - A
(ACCOUNTING) (40 Scores)
I.  Answer any 4 questions from 1 to 5. Each carries 1 score. “4x1=4)

1. Under fixed capital method, all adjustments relating to partners capital are shown in

(a) Current A/c (b) Capital A/c

(c) Profit & Loss Appropriation A/c  (d) Profit & Loss A/c

2. Anu, Binu and Cinu are partners sharing profits in the ratio of %, % and % Cinu

retires. The new ratio between Anu and Binu is
(a) 4:5 (b) 5:4

(c) 1:2 (d 2:1

3. The present value of a firm’s anticipated excess earnings is
(a) Capital (b) Reserve

(¢) Goodwill (d) Loss
4.  Realisation Account is prepared at the time of
(a) Dissolution of Firm (b) Admission of a Partner

(c) Retirement of a Partner (d) Death of a Partner

5. The accumulated profits and reserves at the time of dissolution of a firm are transferred

to
(a) Realisation Account (b) Partners Capital Account
(c) Bank Account (d) Partners’ Loan Account
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PART - A

(ACCOUNTING) (40 Scores)
1 2)®@d 5 oo agomaslel)o 4 Gald3iEBUREN DOAMOHAYI®)d:.
1 ¢pod all@o. @4x1=4)
audlo  meiwm dolRIed a1@0ElB8)eSs  MPILMANAOV]  NITWe|S)aM
@RARAVHAMNDHUB OO |SIOTNAN BRI DENEIET)
(a)  HOAG @RIOVENE (b) meILM GRE9VENE

(c) enemay allrleon @reaDe  (d)  EIEMaY HHIMAS

@My, enilmy, avlm) %, %, % af)MM  GRMIOOOEI@  £10o  allalenam
a10glag0em. milmy afllealesmm). @mailoadwle milmaileBd an@lw eoe
@RMAIdB0 @)6Im.

(a) 4:5 (b)y 5:4

() 1:2 (d 2:1

830) niailmay ALNoaIMEIOM  (IGlIM® @RWld: LIDETNOG NG 0988

MEIA06
(a) meIwmo (b) &>0)®@3
(c) aumdealo (d)  Mayo

OlOOHLICTVAHNE BRAHDENE HQONIBNIM@)

(@) ISl MNdaIMo @RSA))aNFIAN TVAXDI).
(b) &0)aIB08lWRS (ICAIM TLAXDI.

(c) &0 108l alloalen)emioud

(d) &0} al®0g8] 20eMeQ|SIEMIOTB

al®08IO1 MLNdalMo @RS2flal)S)IM TVAED AVERI® L0 ANe BB WMAlo
2OQAMN@
(a) JesLICALaHM @PEOVMEIGE (b))  a18:08l38)6S MEIWM @PEHVNEIG3

(c) enIoe @BREVNEIDTS (d) s08le:8)0s 6eloeNd @PEOVMEIT3
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II. Answer all questions from 6 to 7. Each carries 2 scores. 2x2=4)

6. List out any four items appearing in the credit side of Partners Capital Account, when

capitals are fluctuating.

7. Anil, Sunil and Manoj are partners sharing profits in the ratio of 3 : 2 : 1. Sunil retires
and Goodwill of the firm is valued at I 60,000. Pass necessary journal entry for the

treatment of Goodwill.

III. Answer any 2 questions from 8 to 10. Each carries 3 scores. 2x3=06)

8.  Raheem and Saleem are partners in a firm. They share profits equally. Their monthly
drawings are X 2,500 each. Interest on drawings is charged at 12% p.a. Calculate interest

on Raheem’s drawings for the year 2022, assuming that the drawings are made :
(1) in the beginning of every month
(i1) in the middle of every month, and

(ii1) at the end of every month

9.  Rosy and Lilly are partners sharing profits in the ratio of 7 : 5. They admit Jhinsi as a
new partner for % share which she acquired i from Rosy and é from Lilly.

Calculate the New Profit Sharing Ratio of Rosy, Lilly and Jhinsi.

10. Write any three differences between Dissolution of Partnership and Dissolution of

Firm.

IV. Answer all questions from 11 to 12. Each carries 4 scores. (2x4=28)

11. A firm’s profit during 2020, 2021 and 2022 were ¥ 18,000, ¥ 20,000 and T 22,000
respectively. The firm has capital investment of ¥ 1,00,000. A fair rate of return on

investment is 10% p.a. Calculate the value of Goodwill on the basis of :
(a) two years’ purchase of the average profits.

(b) three years’ purchase of the super profits.
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IL 6 2)®@3 7 Q190 ag)Ll0 Gal0BEBUREN) DOMOOALI®). 2 ¢ILOA all®o. 2x2=4)

6. @oaudlo MEIWM G@REOVIME ATV, B30) al80s8lWIOs MLIWM GRENDMEIDTI
O(BHAWIQ D2 1GYME MILT EHMEBUD alSlHe)a|SITT)D.

7. @pMIG3, aLMI@3, AECMIR af)alAI@ 3 : 2 : 1 GRMAIGOWI@ £10e afl@les)am
a1 0glag0em. auMIed allealee)sle Mundaimalend wywailled ailer 60,000
001000 M IVE9NB@)e Hal®). VyWallelod @dleeemanaon] mimweals
@RYQIVDIAOW ELBEM@ af)M(S] GO |S)TTD>.

L. 8 2)®a8 10 Q160 c213iSEE BOO®BILNe 2 ag)gROTIM DOMOOAY))D:.
3 capod afl®eo. 2x3=06)
8. 0adlo, avello ag)amlald 630) NN IMBIHIOL] alih0S]@H806mM. @RAIQ £10E0 @EIYANOW
algH)QWBNMN). GRAIAG (IR0 allddaiellemam @@ 2,500 ol afleacsm.
®Balq al1eilvd AIBau@@3 12% dloasi@d nDSoaesMo. 0adlo alladaleila) @)d@as
@I alOWIAM V20210 LIS aleflUd GEMENIBN D :
(i) alladaielao® 20TVo.RGIHIG3
(i) aflBaely® 80c00 AOTVEBIOBW) AWIGHIE3

(iii)) afladaielaj® a00VoQITVOMo

9. oo, eflefl agyamilald 7 : 5 e10€ @oM)aI0®N)BS ald0g]leg0em. elamadlow % ene

allme M@yl an@l@  miladlnay’ a1g08lods]. @M  cooilensw)o,

eleflopsw)p eoe olloemilcd mlan %, 1 o)l (HACHIT3 M@, DAIOOS

8
)@ £19@ BRMIaI0Mo dheNE)allSlen)d.

10.  a180glomo afldlajjailselo al@oglem MO MO @RSaflnlj5el)e ®ooile)nss
aBOO®ESIEI0 B)AN QAUIGOTVEBUD af) QI®))d.

IV. 11 2)®@3 12 0160 af)£1d G103 68BUdEN)o DOMOOAN)®)D. 4 LA all@o. (2 x 4 =18)
11. &0) aunoaimomiead 2020, 2021, 2022 ald-uemglee! ene. I 18,000, I 20,000,
% 22,000 ag)aril (@a@mle0sm. MuodalM@dlec] @eiwm dleatalo X 1,00,000 @rysem.
MEHUaITTHM (IS BH 09N 210EMIB8 (IGIAIGHo 10% @M. AVE3Ca|BlOn]
MPIYo @06Y M) flaleeyam AlGIIaS @eme)ailSland
(a)  VPEIVDAI £I0Eo VENE AUBAHEBBINGE QAT MIMS: afleiow.
(b) @ERWIGEI0EL @I AUBHEDNES QIIEBIIM@IMSS afleiowi.
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12.  Anoop, Manoop and Sanoop are partners in a firm. Manoop retires from the firm. On

his date of retirement ¥ 40,000 is due to him. Anoop and Sanoop promised to pay him

in instalments every year at the end of the year.

Prepare Manoop’s Loan Account when the payment is made in four yearly instalments

plus interest @ 12% p.a. on the unpaid balance.

V. Answer all the questions from 13 to 14. Each carries 5 scores. 2x5=10)

13. Rajan and Sajan are partners in a firm sharing profits and losses in the ratio of 2 : 1.

Their capital balance as on 01-04-2022 was T 4,00,000 and X 3,00,000 respectively.

The partnership deed provides that Rajan is to be paid a salary of I 2,000 per month

and Sajan is to get a commission of ¥ 10,000 for the year. Interest on capital is to be

allowed at 8% p.a.

The drawings of Rajan and Sajan for the year were ¥ 30,000 and I 10,000 respectively.

Interest on Rajan’s drawings was I 750 and on Sajan’s drawings, ¥ 250. The Net Profit

of the firm before making these adjustments was ¥ 1,82,000.

Prepare Profit and Loss Appropriation Account.

14. (a)
(b)
SY-550

Abu, Tara and Ravi are partners in a firm sharing profits in the ratio of 5 : 4 : 1.
Ravi died on 30" June 2022. His share of profit was to be calculated on the basis
of average profits of the last three years, which were I 1,56,000 for 2019,
¥ 1,85,000 for 2020 and X 1,75,000 for 2021.

(1) Calculate Ravi’s share of Profit. 2)
(i1) Pass necessary journal entry for the same. 1)
(Hint : Accounts are closed on 31% December)

Mention any four accounting adjustments/aspects involved on retirement/death of

a partner. (2)



12. @RM)al, aM)al, ALVMal af)NIAUR S0} TLOdAIMGIHIOL! alBHOSldHB06M. AMal
TMuD2aIME®I@3 mlan afleales)m). @e@oud afloaleeman dlaiqve 40,000 @)al
BRWOUBAES OGHIS)ANOMIENE. @RM)allo TVM)allo GRWIUVBAHS QAIOBaHIG @AM GBSO
QAIBAHOQIAVIMo @) MBIHIOAAN QADUNBIMo BGHISIBN)MN). OBGISIBNIMBS @)
Mol Mely aloGeHld MAIMGHBIWo Balo HBHIS)HNIMB MNINASIBB @)HQHS 12%
Q0B MosIEs alelto®lo CaIBTMEOHMEES aM)allead cLIoem @RADVENE’

© QY2008 >.

V. 13 2)®@3 14 0190 af)£10 Galo3eBurdan)o 2OMOOA9I®)d. 5 capod all@o. (2 % 5 =10)

13.  a1808la800 ©ORM MLORMIe LI0Ro alBIS)IAN® 2 @ 1 af)dM @M IO®@IHIIEM.
2022 agefl@d 1 o @ralops meiwm dlaslofidla] @)d @L0d@ao 4,00,000 0)nI@)o
3,00,000 @)a1@)o @RY6IM. algH0gEGID G003 BRMIATVAle] EIRM (aIGI20aVo 2,000 G)al
LMUBAI TVIRM (AIGlAIBGaHo 10,000 @)al BadflaM)o M@B:6Mo. MEIWMEHIM 8%

alellvo M@3HeMo.

@R, AVORM af)ATAIOOS MSa|JAIBHUOHTD ®Malg WLNOGAe 30,000 O IW)o
10,000 0)a1@)206m. 0022608 @MBaldlm 750 0)a1®)o ALIROHMW ®WBaIGlM 250 O)al®)o
alello EVSOBPEMo. DD (HAHlBHEEMEBUBES MMNBB MO INATIOG @RGIBOWo

1,82,000 @)a1@06m.

M2 IN@TNOAG L10EMaY QT BREHDENE GYINIDN)D:.

14. (@ 5:4:1 eI @RMPIOOONI@ L1960 Afl@IBNIM al808d:806m @RNIAN0,
®00®@)o, dafl@lo. 2022 236 30 M oAl adla). eallees eioe afladlmo &¥leom
MM AIBHOOD  LPEOVING  (0E2UAIWIOS  @RSITLOIMEITILI0ET
BMENANMN@. @@ 2019 @3 1,56,000 @a1@)o, 2020 @3 1,85,000 ©@)aiw)o,
2021 @3 1,75,000 @)a1c)@06m.

(1) oallwes e1neaflladl@o GHMENIBG:. 2)
(i1)  @IMINIVDINIW CRABEM@3 af)(S] af) )M 1)
()21 : BRAHDENE IV BalGaIN® WlaLosnI@ 31 @rRyerm)
(b) &0) aisoglwes allealen@d/ansm TLARDT GR/YAUVIIAIW AGODEIE)o MOLT

@REODMELY) (BHAlBHOMEBUd MV)a la {lHe)d:. ?2)
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VI. Answer any one question from 15 to 16. Carries 8 scores.

(1x8=8)

15. The following is the Balance Sheet of Arun and Varun sharing profits and losses in the

ratio of 5 : 3.
Balance sheet as on March 31, 2022
Amount Amount
Liabilities Assets
®) (J)

Creditors 40,000 | Cash 20,000
Bills payable 20,000 | Debtors 60,000
Capital : Stock 80,000
Arun 1,20,000 Machinery 1,20,000

Varun 1.00,000 2,20,000
2,80,000 2,80,000

They agreed to admit Sabu into partnership on the following terms :

(a) Sabu brings ¥ 80,000 as his capital and ¥ 40,000 as his share of goodwill.

(b) Machinery is valued at ¥ 1,50,000 and Stock at I 1,00,000.

(c) A provision for bad debts is to be created @ 5% on debtors.

(d) The new profit sharing ratiois 7 : 5 : 4.

Prepare :
(1) Revaluation A/c

(i) Partners Capital A/c and

(ii1) Balance sheet of new firm.

SY-550



VL. 15 @@ 16 a190 ¢alosionBglad «go@sslele Sa0gnomli 20mOnA)®)d:.

8 capoad. (1x8=38)

15. 5:3 a)am @GRMI@OIG3 £10E801N0 MaYQl)o alBHISIAN @RO)6NI, QIO af)aIAI0)OS

NIOLINBAV oHlg @069 M@BHYAM.

moaaﬁw’m’lg?’ 1-03-2022

MDWIODHUD M () @RAYa>0d o )
@llegyay 40,000 | y0aH’ 20,000
nf@3av calenilyd 20,000 | @aweniegyav’ 60,000
»30ajlqad : CAVOBS 80,000

@no  1,20,000 eAaHIMAl 1,20,000
aloed  1,00,000 2,20,000
2,80,000 2,80,000

aLINNATOHM OO |0WIAM (2 1H000 a NIV 2180V DUBAA SN

(a) avoenyy 80,000 @1 meiwmadw) 40,000 Ol )WalG3 Ba0Clow)e

OB06M)AUAM).

(b)  e2aHIMAlWOS el afler 1,50,000 0)a1w)e cquoaslond amasl@ ailel

1,00,000 @)a1@)o @13)e3)aM).

() eaenicgemilond 5% qLoUdVIMVAIZ HSATIMBB  A@IANlauMO]  @0gl

QIR ENEMo.
(d) anolw ene @maldde 7 : 5 : 4 @ryem.
(i) dlaoeINEAInH3 GRAHDENE
(i) IS BHB)OS MEIWM BRENDENE)DHUD

(iii) an@l® I0eIdaV oHlg af)ailal BYO0B9)H>.
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16. Amal and Bimal are equal partners in a firm. Their balance sheet as on 31 March 2022

was as follows :

Balance sheet as on 31% March, 2022

Amount Amount
Liabilities Assets
Q) Q)

Creditors 10,000 | Bank 5,000
Capital : Debtors 10,000
Amal 12,000 | Stock 8,000
Bimal 8,000 | Furniture 7,000
30,000 30,000

The firm was dissolved on 315 March 2022.
(1) The assets realised were :
Debtors - 8,500
Stock - 37,000
Furniture - 39,000
(i1)) Creditors were paid X 8,000 in full settlement.
(ii1)) Expenses on realisation amounted to I 500.

Prepare Realisation Account, Partners’ Capital Account and Bank Account.

SY-550 10



16. @naelp miaen 80 MUOdaIMOBIOE! ML algogle:gosm. 2022 moda] 31 eel

@RAINYOS MIIBSal(@o 21)AIOS BHIS)HEN)AM)] :

2022 m0@42) 31 ee1 nidaslal(@®o

MIDW YWD M (%) @RAVGI®HUD @) )
(@legyay 10,000 | enuoes 5,000
D300 flqas OADENIEQYaV 10,000

@A 12,000 | cguoee 8,000
nila@d 8,000 | an@emilayd 7,000
30,000 30,000

&0 BlAITVo LNJAIMo @S]} a )38 GH)AOM o))

(1)  @ERMVGIEU allg @)BHUB 21)010S OBIS)HN)AM)

eamiegyav’ — 8,500 o)l
CAROBE — 7,000 @)l
an@emilad@  — 9,000 @)al

(i)  BGWlEgPaV @RAIOYS HEMEP @18a]0990mow] 8,000 d)al M@
(iii) O0lWeHELIGIVAUM ealelal 500 E)nIow.

GlOOOLICIVHUM  GRADVENE, alBIFDHBIOS DPaflgEd GREODEME,  MIOH

GBRANDENE o)Al @QO0IBN B>
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VIIL
17.

18.

19.

20.

VIII.
21.

IX.
22.

PART - B
(COMPUTERISED ACCOUNTING)

Answer any 3 questions from 17 to 20. Each carries 1 score.
Alphabets or symbols used to codify a piece of information is
(a) Sequential codes (b) Block codes

(c) Mnemonic codes (d) Numeric codes

(20 Scores)

B x1=3)

Identify the function which helps to convert a date in the form of text to a number.

(a) DATE (b) DAY
(c) NOW (d) DATE VALUE
Net Pay =

(a) Gross Pay — Total Deductions (b) Gross Pay + Total Deductions
(c) Basic Pay + DA (d) Basic Pay + DA + HRA

Identify the Free and Open Source Accounting Software
(a) Peachtree (b) Tally
(c) Daceasy (d) GNU Khata

Answer the question 21 which carries 2 scores.
Write short notes on :

(a) Tables

(b)  Queries

Answer all the questions from 22 to 23. Each carries 3 scores.

Briefly explain the following elements of a Chart/Graph :
(a) Chart Area

(b) Data Points

(c) Legend

SY-550 12
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VIIL.

17.

18.

19.

20.

VIII.
21.

IX.
22.

PART - B
(COMPUTERISED ACCOUNTING) (20 Scores)

17 m)®@8 20 190 ¢al3iBElad ago®rlens 3 afePOTIM DCMOHAY®)D:.

1 capod allo. Bx1=3)
BREHOEBESI 2 laMEBESI DalcIUIla )88 GHWlss lmlosm’

(a)  alOMIO GHIWIBHUD (b) ey 3O )HHUB

(©) (DD CBHOWHUD (d)  ®myReadld; CBIWBHUB

OSHAY QIoTeNss 80} OGOV dTVoAIP O} ICTIICLISD  alClIBTHMo
621003 MVaNOWBN)MM anNEBaHB G1Bla]GlW)d:.

(a) DATE (b) DAY
(c) NOW (d) DATE VALUE
@oQ VOMIBo =

(a) ©@OTIM YOMIBO — BRY)ED> BH1F1ANBUD

(b) @O0 VoMISo + BRYEOID> HIFIANBUB

(c) @RSIOOM VOMIBo + GHHUINENIDBID)

(d) @eslaunom vomise + @G:oaeNIET + Aflg)A10SE: MIGTE

@mMIAlenMAUXI@ MM AVOEDAP  HAD@AUO®  CALIYTV  DBIENAOW
@RAHDENELY) CTVIOQHAURCIOM @IGl2|0lW)D.

(a) aflaigl (b) soeil

(c) awoden»aVl (d) =lm)anom

GaloB o 21 M ROMOOAL)®). 2 GAVIA. 1x2=2)
e1een®»)0laJbU3 af)9)@dD

(a) asnilg)sud
(b) 0D

22 2y®@8 23 QIO af)E£10 GaldBIEBURBAEN ) QOMOAL)®)M. 3 ¢aPIAd afles. (2 x 3 =6)
830) al0d85/(2adlod, @IOY al0WYAN  CRISHEBOS  G)la]  eleenailaiosmo

M @3> :

(a) 21085 ROl

(b)  WoQO CaloWY BB

(c) erimaBw
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23.  Write the syntax for the following functions :

(a) SLN
(b) DB
(c) PMT
X. Answer the question 24 which carries 4 scores. (1x4=4)

24. Describe any four features of CAS.

XI. Answer any one question from 25 to 26. Carries 5 scores. (1x5=5)
25. (a) Using the following spreadsheet function, write the result displayed in the cell.

(i) =ROUND (412.654,-1)

(i) =ROUND UP (25.314, 0)

(iii)) = ROUND DOWN (568, —2) A3)

(b) State the reason for the errors given below :
(1) #DIV/0!
(i) #NAME ?2)

26. Complete the following table :

Voucher Type Used to Record Shortcut Keys
Receipts ? F4
? Cash and Credit sales of goods F6
Purchase ? F7
Journal Adjustment entries ?
? Deposits or withdrawals of cash from bank F8

SY-550 14



23.

24.

XI.

25.

26.

@069a|0WIAM aNoWaHMIBRAS QDB IPLISM af) 9@ :

(a) SLN

(b) DB

(c) PMT

Gal0oB o 24 M ROMOONL)®)h. 4 GIVOA. (1x4=4)

HMIPSA ARWIHOI® @REOVIELUINMG BGOSR MOLT (ICMIBOHOS »H)Ola]
flvodl @109

25 2)®@3 26 OO €a1BEBSEI0 aBo®BLILNe BOOINOVIM DOMOHAY}®)c:.
5 capoad. (1x5=5)
(a) ®oey MElXIClENI AVHEIWHIG afoWaHMDHUB  DalCWOUlHNEMIOUD,
OMVENBSIG3 H06MI1E9)IN DOM0 af) IV BBNOAAN ag) $)®)D>.
(i) =ROUND (412.654, 1)
(i) =ROUND UP (25.314, 0)

(iii) = ROUND DOWN (568, -2) 3)
(b) @069 V) ilafloeam allvodleOd BO0sMo AIAMAIHN)D, :

(i) #DIV/0!

(i) #NAME )

M@HI B H0)TN 1Sl al)BOTIWOHN)D

QIM2J@ ®o DalCWIWo eniIgend
O0aVlaigay’ ? F4
? MLOWMETBAB)AS aleMBTIENo F6

SHSOemss afleialm

al@Ga |V ? F7
c=RBeM®@3 (@A HO6M af)BSIHUB ?
? NIIBHI@3 aleMo MNCHHUaloHGd ma%&’laﬁ F&

alémo afladaiellenod
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